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Instructions

Answer ANY THREE questions

1. Prove the validity or invalidity of the following argument by use of full truth table method.

If Sandra is either a student of philosophy or law, then she must be an intelligent student. However, Sandra is not an intelligent student. Therefore Sandra is not a student of law. 

2. By use of short truth table method, prove the validity or invalidity of the following arguments.

        a) A → B                           b) P → Q                    c) C → B

     (B                                       Q v R                           D v C

         ( (A                                ( P → R                          ~D

                                                                                        ( B ∙ C

3. Use truth tree method to determine the validity or invalidity of the following arguments.

a) A v C                         b) T→ S                     c)  P → Q

  ~ A · R                            S→ Q                     ( P → (P · Q)

                   ( R · C                        ( Q→ T                      

4. Using indirect mathematical proof method, prove the validity of the following arguments.

a) G v (K ∙ D)                b)  F → C                  c) P → S

G → A                            C → B                      R → Q

       A → K                       ( F → B                      R ᴠ P

  ( K                                                                 ( Q v S

5. Use conditional proof method to prove the validity of the following arguments.

a) (G ᴠ H) → (S ∙ T)          b) P → Q                       c) P → (G → T)

 (T ᴠ U) → (C ∙ D)             Q → R                          Q → (T → E)

               ( G → C                             (R ᴠ S                            P

                                       ( P → S                           Q

                                                                                               ( G → E

